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B ral Instructions:

- " This question paper comprises four sections — A, B, C and D. This question paper carries 20 questions. All

Stions are compulsory.

tion and Reasoning Based , '
3: Q. No. 21 to 25 comprises of 5 questions of two marks each.
C: Q. No. 26 to 31 comprises of 6 questions of three marks each. ’F

ion of five marks. There is also a choice in the 2 mark
nly one of the choices in such questions.

ction - A

aving remainders 5 and 8 respectively is
(c) 875 (d) 1750

omial 2x? — 2v2x + 1 are respectively
L and 2 (d) V2 and -:;

(d) more than 3 » _]
- bx? + x — 2, then the value of a — 2b is ‘ i
(d)—9

1= Set - 'ir!"
I.I‘




= : the values of £ 18 3
10. If the distance between the points (2,—2) and (—1,x) is 5, then one of the v

(a) =2 (b) 2 (c)—1 (d)1
11, The mid - point of the line segment joining the points A(—2,8) and B (—6.—4)is
“ [8) (=4, ~6) (b) (2,6) (c) (~4,2) (d) (4.2)
: AB BC CA
12. If in two triangles ABC and PQR, EE e ;E' then

(a) APQR ~ ACAB (b) APQR ~ AABC (c) APQR ~ ACBA (d) APQR ~ ABCA
13. ABCD is a trapezium with AD||BC and AD = 4 cm. If the diagonals AC and BD intersect each other at (

A A0 DO 1
l'._ "‘“EE '55 by , then BC =
B mscm r ("b)7cm (c) 8.cm (d) 9 cm

VbZ—a? a
(0 — Ly
cot 60 °, then x =
an 30° (c) sin 30° (d) cot 30°

- P
a ‘ >4 : 2 _ __ 2
T 7R (c) 7 0 X 2nR (d) =50 X 2mR

diameter 10 cm subtends an angle of 144° at the centre, then the length of the ar

T cm (c) 5mem (d) 61; cm

ractor of diameter 14 cm is

(c) 62 cm (d) 28 cm




e

QI-

24 Afraction becomes %, if 1 is added to both numerator and denominator. If, however, 5 is subtracted from bofh

1 : )
numerator and denominator, the fraction becomes ; What is the fraction?

OR

~ Two years ago, a father was five times as old as his son. Two years later, his age will be 8 years more than three

" times the age of the son. Find the present ages of father and son.

@ Find two consecutive odd positive integers, such that sum of whose squares is 514.

K ;ﬁi Find a point on the y — axis which is equidistant from the points A(6,5) and B(—4,3).
- OR
=3

~ Find the coordinates of the points of trisection of the line segment joining (4, —1) and (=2,
Section - C

w that V7 is an irrational number.
the graphs of the equations2x —y — 2 =0and 4x —y — 4 = 0. Determine the coordinates of the
s of the triangle formed by these lines and the y — axis, and shade the triangular region.
o of income of two persons is 9: 7 and the ratio of their expenditures is 4: 3. If each of them manages
onthly incomes.
 the base of a lamp — post at the speed of 1.2 m/s. If the lamp is
ar shadow after 4 seconds.

OR
re respectively proportional to sides PQ and QR and median PM

e vertices of a right triangle, right — angled at B. Find the value of
segment joining A(3a + 1, —3) and B(8a, 5) in the ratio 3: 1, find the values

|'ﬁ

Rl -

of diameter 13 m in such a way that the
opposite fixed gates A and B on the
he two gates should the pole be




B Prove that sin A1 + tan 4) + cos A(1 + cot A) = sec A + cosec A
the centre. Find

5. In a circle of radius 21 mmmmdsuwofw'u i
(i) Length of the arc. =
(i) Area of the sector formed by the arc. L
(i) Area of the segment formed by the corresponding chord of the arc. [w — ,

- A brooch is made with silver wire in the form of a circle with diameter 4.2 cm. The wire is also used in making

I K Pl : Gﬂwmettemwhldtdivide the circle into 12 equal sectors. Find
i @ The total length of the wire used.
(i) Thearea of the sector of the brooch.

Section—E a5

d how beautifully the Diwali lighting glow one after another, few very fast and other

her house with three types of lights. The three lights glow after an interval -

jvely. The lights start glowing together at the same time.

swer the following questions:
e lights will glow together again, we need to find LCM of numbers or HCF |

the lights will glow together again?

OR




bl

. BB I structural design, a structure is composed of triang les that are interconnecting A truss s # savie of Wangie
in same plane and is one of the major types of engineering structures and is especially used i» the dwsagt A
bridges and buildings. Trusses are designed to support loads, such as the weight of people. A truss &
exclusively made of long, straight members connected by joints at the end of each member.

Write the correct symbolic form of similarity of AABC and APQR.

i the length of AC?

he length of BC? ,
2 length of BC? | oy
| OR ey
‘Il happen to the length of AC? Find it. %




